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E K 4 ,(Er,né; 'Finﬁb(:)wﬁﬁ%ﬁ jj(gilicmé)é X 4 Tjﬁﬁég}’fﬁiﬁ '(Er]né; 73(5{23:3)3 K 4 ,(Er,né; J:imb(:)a)tt.sj jj(lf')\lzcm%)é R 4 J:flﬁ'ﬁ?f)(:)ﬂ)ttlsl '(Er]né; 73(5{23:3)3
1 100kN/m%#25 | 1.00|0.00 ~ 310 149.47 |3m%E#BZB| 0.00 ~ 0.01 | 3.00 15,18 | 100kN/m%#8%% | 1.00 | 10.80 ~ 3847 149.47 |3mEBAB| 30.00 ~ 3847 | 3.00 156,18
s 1.00 | 310 ~ 1089 100.00 | =ndst | 0.01 ~ 1089] 3.00 15.16 T st 1.00 | 6.00 ~ 10.80 100.00 | =hldst | 5.00 ~ 3000 3.00 16.16
2 100kN/m##Z5 | 1.00|0.00 ~ 500 147.69 |3m%EBZ S -~ -| 100kN/m%#8%% | 1.00 | 10.86 ~ 36.10 147.69 |3m&EHEZ B -~
ZTh st 1.00 | 300 ~ 1079 100.00 | =nldst | 0.00 ~ 1079 2.99 16.11 zhLsn 1.00 | 6.00 ~ 10.86 100.00 | =hH | 5,00 ~ 3610 2.99 16.11
g 100kN/m##Z5 | 1.00|0.00 ~ 251 139.28 |3m%E#BZ 3 -~ -| 100kN/m%#8%2% | 1.00 | 11.08 ~ 27.62 139.28 |3m&E#EZ B -~
ZTh st 1.00 | 261 ~ 1029 100.00 | =nds 1 0.00 ~ 1029]| 2.84 14.38 zhsn 1.00 | 6.00 ~ 11.08 100.00 | =h5 | 65.00 ~ 2762 | 2.84 14.38
4 100kN/m##Z5 | 1.00| 000 ~ 283 144.77 |3m%EBZ 3 ~ -| 100kN/m%#8%2% | 1.00 | 10.64 ~ 2366 144.77 |3m&EREZ B -~
ZFh st 1.00 | 283 ~ 1062 100.00 | #Fhlst | 0.00 ~ 1062|280 14.17 Thnst 1.00 | 56.00 ~ 1064 100.00 | =ns | 65,00 ~ 2366 | 2.80 14.17
100kN/ Mm%z 5 ~ ImEEZRD ~ 100kN/mM##8 % % ~ ImEEZD ~
ZFh st ~ ZhLst ~ ZFhLs ~ ZhLst ~
100kN/ Mm%z 5 ~ ImEEZRD ~ 100kN/mM##8 % % ~ ImEHEZD ~
Zh st ~ ZhLlst ~ ZFh s ~ Lot ~
100kN/mM#E#E Z5 ~ ImEBZD ~ 100kN/m#%# 25 ~ ImEHEZD ~
Zzh st ~ Zh LS ~ Zh s ~ Zh s ~
100kN/mM#E#E 25 ~ ImEBRD ~ 100kN/m#%# 25 ~ ImEHEZD ~
Zzh st ~ Zh LS ~ Zh s ~ Zh LS ~
100kN/mM#E# Z5 ~ ImEBZD ~ 100kN/m#%# 2z 5 ~ ImEHEZD ~
Zh st ~ ZhLst ~ ZFhLs ~ ZhLst ~
100kN/ Mm%z 5 ~ ImEEZRD ~ 100kN/mM##8 % % ~ ImEEZD ~
Zh st ~ ZhLst ~ ZFhLs ~ ZhLst ~
100kN/ Mm%z 5 ~ ImEEZD ~ 100kN/mM##8 % % ~ ImEHEZD ~
Fh st ~ ZnLst ~ ZhLs ~ LSt ~
100kN/ Mm%z 5 ~ ImEBRD ~ 100kN/m#%# 25 ~ ImEHEZD ~
Zh st ~ Zh s ~ Zh s ~ Zh s ~
100kN/mM## 25 ~ ImEBZD ~ 100kN/m#%# 25 ~ ImEHEZD ~
Zzh st ~ Zh s ~ Zh s ~ Zh s ~
100kN/mM#E# Z5 ~ ImEBZD ~ 100kN/m#%# 2z 5 ~ ImEHEZD ~
Zh st ~ ZnLst ~ ZFhLs ~ ZhLst ~
100kN/ Mm%z 5 ~ ImEEZRD ~ 100kN/mM##8 % % ~ ImEHEZD ~
Zh st ~ ZnLst ~ ZFhLsh ~ ZhLst ~
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